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VI Semester B.Com. Examination, May/June - 2019
COMMERCE
6.5 : Elective Paper - III - Performance Management
(CBCS) (Freshers+Repeaters - 2017-18 & onwards)
Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written in English or in Kannada.

oo - &/SECTION - A
1. oImRmEce 5 TFAYR w30 TS TIR 2 YOINW. 5x2=10
Answer any 5 questions. Each question carries 2 marks.
(a) ™0 332\2"332:‘5 2OT3e ?
What is target costing ?
(b) WeDRIF STTT :5?{:3:;@;5 ity &-J‘odﬁodoﬁn;\ ERa.
Give the meaning of activity based costing.

DOTITETR
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(c) =D A8 VO
@
What is Break Even Point ?

d) OR Hw@Texm 20wEs Wil IR A ARED ?
[N w N -0

b 2.

What do you mean by standard costing ?

(e) wOBTY — TONY TOwM Bert FOBLBOIINO 7
How do you calculate Debt - Equity Ratio ?

() WTIRB BS0PH WTF DTTTONT, 3RR.
Give the meaning of Transfer Price.

(g) BOT SORTOL @0TTE ?

What is Flexible Budget ?

P.T.O.
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@yen - W/SECTION - B
alymenae 3 TJNYR wwI0R. B8 IJIN 6 LOBAW. 3x6=18
Answer any 3 questions. Each question carries 6 marks.
2. XROTERONT WY TP DT SERUT [PTANY IWLT FTANYR, 392,
State the difference between Traditional costing and Activity based costing.

3. B 3UNT TRWIWOT :
(a) T PHeg BIOD
(b) I BT IIob R
(c) T WIWFF FICLAYR, FOBLAWO

5% Hotdrisd 4000
woN®W notdngd 5000

5%, 30OTT T 3 T3 nowdn
X 8POT0 % 2.50 B3 rosin

Using the following information, calculate :
(a) Labour Cost Variance

(b) Labour Rate Variance

(c) Labour Efficiency Variance

Standard hours 4000

Actual hours 5000

Standard wage rate ¥ 3 per hour
Actual wage rate T 2.50 per hour

4. T3 FINT VDML 0T ﬁoz.a;ﬁ ROLOTITEIT
BP0k B3S TS o ¥ 100
LBUIRR [ T cbwedrR T 80
30 SN ¥ 3,00,000
q) )
FOW&BCAW0.
(a) :ﬁﬁa?&é ROTH CRREFNYY DB BeITY.
(b) wotd Fe¢ :dabﬁé\% ROTHI, 4000 cLRIFNVR TRD [rpAWNR TRV 3¢

BOR&ACW0.
The following information relates to a firm
Selling price per unit % 100
Variable cost per unit T 80
Fixed cost ¥ 3,00,000
Find out.

(a) BEP in units and in amount
(b) Find out selling price per unit if BEP is brought down to 4000 units.
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o030 10,000 0hRIEF YIVWI0D WO

= Ve Lteel
EDENVIATALY
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2ITITOMES TN 3&37‘1@&3

30 soewo e (% 2,00,000)
wcioarbaj DD (5¢0)
wRovt I (10% r&_’d}
Q30T FPnd (20% 39)

RO

8,000 ORI NS WBUT 50:’0»503m—‘
The expenses budgeted for production of 10,000 units in a

m&;ﬁ"“ ¥ 1,00,000 E\\:ﬁd}

below :

Elements of cost

Materials

Labour

Variable overheads

Fixed overheads (X 2,00,000)
Variable expenses (direct)
Selling expenses (10% fixed)

Distribution expenses (20% fixed)
Administration expenses (X 1,00,000) fixed for all level

Prepare a budget for the production of 8,000 units.

Tozn  SEneh 83 IFIoBOS :
T2 obRIEFR )

Jo3TmOA.

6. BINT TLENVOT 323 I°OF ddr‘i%ﬁ;ﬂbat o LBOND.

(a)
(b)
(c)
(d)
(€)
(f)

£
i)

00D BT ﬁ@j
ohoRY AW ¥
TOTENY FoLONF ﬁa?j
oRo3nY @oed ﬁz;d
ATFIRB BB gzswé ﬁzg
TORNE DA 30B0NF %,

T3 BOWE STIONW :

(i)
(i)
(iii)
(iv)
)
(vi)

00D B8WeINY 0D
“Ow&"'ﬁ%ﬂ AJO_S
&oavcbm: mam ¢ % :;ja
wﬁ)?ﬂnﬁr »uOé;D’

zdﬁououéd,a RHoTHRY K03,
w:i@f@ TR LVICRF O

(&5

3
90,000
3,00,000
2,00,000
4,00,000
1,15,000
1,50,000

50

200
5,00,000
4,000
100

500

i

140
S50
40
20

Cost per unit (%)

140
50
40

GS-471

a factory is furnished

P.T.O.
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From the following calculate cost driver rate :

k4

(a) Purchase order cost . 90,000
(b) Material set up cost 3,00,000
(c) Product packing cost 2,00,000
(d) Machine testing cost 4.,00,000
(e) Maintenance and cleaning cost 1,15,000
(f)  Material handling cost 1,50,000
Cost allocation basis are :

(1) Number of purchase order 50
(11) Number of setup 200
(111) No. of packaged packed 5,00,000
(iv) Number of Test 4,000
(v) No. of batch run 100
(vi) No. of time materials handled 500

Fgen — 2/SECTION - C
SRFwente 3 TIAYR B0 T3 TIH 14 L0IRAW. 3x14=42
Answer any 3 questions. Each question carries 14 marks.

7. wOW BOTACW 2 JIRFNYY 85 3¥TOW QWONTR, QeRT.

WWT 31.3.18 31.3.19
ERSDISDIR ¥ 16,20,000 < 18,00,000
o3 ¥ 36,000 < 90,000
FOR&LACWND

(a) cRP-BRTW JOZWee

(b) ngd dz%

(c) ¥6,00,000 oPnoser WesNND [Ioo0k BRZ

(d) =HYS Wom TAYY

(e) ©ogd X 1,44,000 B Zeabdidd ©0woe
(f)  ¥20,00,000 SPos63, 2303 ©og

(8) <T@ oIORY wIwerds B
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An Industry Reports the following Information for 2 consecutive years

Particulars 31.3.18 31.3.19
Sales 16,20,000 18,00,000
Profit 36,000 90,000
Calculate :

(a) P/V Ratio

(b) Fixed cost

(c) Sales to earn a profit of ¥ 6,00,000

(d) BEP in amount

(e) Margin of safety at a profit of ¥ 1,44,000
(f)  Profit when sales are T 20,00,000

(g) Variable cost for 2 ycars

8  1-4-2019 dothd IoTACH TOORE dey T 32,000 DR -wRT 2019 T IEII
3 $onY INI VPONB TIFI, JIROILD &3 INT BILINTI, eBONT.

gonh RWRT oeN: 1) ﬁ%gﬁféa
®) ®)

PO 70,000 44,000 6,000 5,000

wWRWE 80,000 56,000 9,000 6,000

WS 96,000 60,000 9,000 7,000

e 1,00,000 68,000 11,000 9,000

Ao 1,20,000 62,000 14,000 9,000

933 IS !

(a) Mdéémdm 2 30M% O DRO ae&ado@gd.

(b) WRoT 25% TR, SN 500098 B momson 1 $ony MOT BTG QeB@RNT.
(c) 3R DB aﬂzgdﬁeé ToR30D ©03T 1 Sonwh.

(d) % |Tha X 28,000 S{nDlowV) ébﬁodsa”ra 2R 2019 8 SRIBoDY TOBSRSONT.

P.T.O.
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A manufacturing company is expecting to have ¥ 32,000 cash in hand on
1.4.19 and it requested you to prepare a cash budget for 3 months April to

June 19, The following information is supplied to you.

Months Sales Purchases Wages
) ®)

February 70,000 44,000 6,000

March 80,000 56,000 9,000

April 96,000 60,000 9,000

May 1,00,000 68,000 11,000

June 1,20,000 62,000 14,000

Other Informations :
(a) Period of credit allowed by supplier is 2 months.

Expenses

5,000
6,000
7,000
9,000
9,000

(b) 25% of sales arc for cash and the period credit allowed to customer

is one month.
(¢) Delay in payment of wages and expenses is onec month
(d) Income tax ¥ 28,000 is to be paid in June 2019.

9. 20T ToXRCRNRT +0ITRT TOTT0D 223Ny ¢
— z

40% TTmFned A T40 T8 uI
—pd
e

60% wWoegrnse BT 30 =@ &30
WISoNY 10% T, W TF 0TIRTNT.

WORNT [OTON, WO

90 &7° TTOTFNL A TS ua'R T4
160 837° Twegrnsd B I8 uo'n T23
WORNT WITS 230 WINWD

& BT LRTNYOT T AR, BIORNTR, TOBLRWD.
The standard cost of a certain in chemical mixture is :
40% materials A at ¥ 40 per ton

60% materials B at ¥ 30 per ton

A standard loss of 10% is expected in production. Actual cost of materials

used is :

90 Tons of materials A at a cost of ¥ 42 per ton
160 Tons of materials B at a cost of ¥ 23 per ton
Actual output is 230 tons.

Calculate all material variances.
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10.

11.

WO FUFICNE 10,000 0DRILFNY Zwons &"o@a?;a’ﬁ aneos dz\,r{@é 6@&
ﬁmtﬁd :
TS 0RREER (3

TORNTIL 70
WO 25
LT 200D ua?,u"(%’c 20
Ndwaef::c uaaurwo X 1,00 ,000) 10
ESU ﬁ;a‘n@uxc (""36) 5
35030“5\; 33 ﬁgju (10% —\:U] 13
A lots ﬁaimt (20% Ncs) 7
BEYI u}z;fﬁ% (X 50 000) 5
A, 5% B3 ohRDEH 155

8,000 ochweder DR 6 000 ODREFT INT FPHT, 300X JVONE TIII,
B030A BB TS I INeoss e, XT JecdR.

The expenses for budqcted production of 10,000 units in a factory are
given below :

‘ Per unit )

Materials 70
Labour 25
Variable overhead 20
Fixed overhead (¥ 1,00,000) 10
Variable expenses (direct) 5

Selling expenses (10% fixed) 13
Distribution expenses (20% fixed) 7

Administration expenses (¥ 50,000) 5

Total Cost per unit 155

Prepare a budget for production of (a) 8,000 units (b) 6,000 units and
(c) Indicate cost per unit at both the levels.

(a) O3 &3
(b) 0O ,azsv“amzﬁ a'o‘oa‘ﬁ%‘ii‘}a, 892,

(a) What are thc ob_]cc,m(,s of Environmental Accounting ?
(b) State the steps in target costing.
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